
https://www.pass4itsure.com/c2150-609.html
2024 Latest pass4itsure C2150-609 PDF and VCE dumps Download

 

 

 

C2150-609Q&As

IBM Security Access Manager V9.0 Deployment

Pass IBM C2150-609 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/c2150-609.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

C2150-609 PDF Dumps | C2150-609 Practice Test | C2150-609 Exam Questions                                1 / 7

https://www.pass4itsure.com/c2150-609.html
https://www.pass4itsure.com/c2150-609.html
https://www.pass4itsure.com/c2150-609.html


https://www.pass4itsure.com/c2150-609.html
2024 Latest pass4itsure C2150-609 PDF and VCE dumps Download

QUESTION 1

The IBM Security Access Manager (ISAM) V9.0 LMI SSL certificate is auto-generated by default. 

When the LMI certificate is due to expire, how is it renewed? 

A. The ISAM Appliance will renew LMI certificate automatically. 

B. The ISAM deployment professional must issue reset_lmi_cert using command line interface. 

C. The ISAM deployment professional must re-generate it using LMI Manage System Settings-> SSL panels. 

D. The ISAM deployment professional must create a new self sign certificate using LMI Manage System Settings-> SSL
panels. 

Correct Answer: D 

 

QUESTION 2

Which one is supported to externalize the Advanced Access Control runtime database? 

A. DB2 

B. MySQL 

C. PostgreSQL 

D. Berkeley DB 

Correct Answer: A 

Reference: https://www.ibm.com/support/knowledgecenter/SSPREK_9.0.3/com.ibm.isam.doc/admin/task/
tsk_deploy_extnl_hvdb.html 

 

QUESTION 3

A customer has an IBM Security Access Manager V9.0 appliance cluster spanning two data centers A and 

B. Data center A has the Primary Master and two Restricted nodes. Data center B has a Secondary Master 

and two Restricted Nodes. 

A Load Balancer with redundancy across data centers provides sticky load balancing to reverse proxies in 

both data centers. 

What is true if a disaster recovery testing scenario takes down all appliances in data center A? 

A. The Secondary Master will automatically be promoted to Primary Master 

B. Reverse Proxies in Data Center B will service all end-users with no intervention 
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C. The Secondary Master has to be promoted to Primary for Data Center B to service end-users 

D. Reverse Proxies in Data Center B need to be recycled sequentially to handle users assigned Data Center A reverse
proxies. 

Correct Answer: A 

 

QUESTION 4

The deployment professional wants to back up the embedded LDAP personal certificate, including the private key. They
navigate to Manage System Settings -> SSL Certificates -> and select the "extract" option. 

Which file format is the resulting certificate backup? 

A. .p12 

B. .kdb 

C. .jks 

D. .cer 

Correct Answer: A 

 

QUESTION 5

A deployment professional needs to achieve sign-on between Virtual Host Junctions https://abc.ibm.com and
https://xyz.ibm.com which are on separate WebSEAL instances. 

Which option requires the least amount of configuration and no changes to the application? 

A. Use the Distributed Session Cache 

B. Use Cross-Domain Single Sign-On (CDSSO) 

C. Use the option "use-same-session = yes" 

D. Use the option "shared-domain-cookie = xyz.ibm.com" 

Correct Answer: D 

 

QUESTION 6

Multiple users are complaining about being denied access to resources they believe they are entitled to see. The IBM
Security Access Manager (ISAM) V9.0 deployment professional needs to understand and troubleshoot the various
access control constructs in the ISAM protected object space. The deployment professional must also understand the
order of evaluation of the three major access control constructs available in the Policy Administration tool. 

That is the correct order of evaluation for these constructs? 

A. ACL->AuthzRule->POP 
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B. POP->AuthzRule->ACL 

C. ACL->POP->AuthzRule 

D. AuthzRule->ACL->POP 

Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/SSPREK_9.0.0/com.ibm.isam.doc/cmdref/
reference/ref_obj_sho_att.html 

 

QUESTION 7

The deployed IBM Security Access Manager (ISAM) V9.0 solution in a company already contains a federated LDAP
server. However, the dynamic group support is disabled. A deployment professional is required to change the existing
federated LDAP server configuration to support the dynamic groups. 

How should the deployment professional do this? 

A. Re-federate the LDAP server with dynamic group support enabled 

B. Manually modify the ldap.conf file and add `dynamic-groups-enabled=yes\\' 

C. Manually modify the activedir.conf file and add `dynamic-groups-enabled=yes\\' 

D. Edit the federated directory configuration using LMI method and select the checkbox "Enable dynamic group" 

Correct Answer: B 

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg27043984andaid=12 (173) 

 

QUESTION 8

An IBM Security Access Manager V9.0 deployment professional needs to create the HTTP-Tag-Value attribute to pass
values to a backend server as headers. 

How can this be done? 

A. By creating an HTTP rule which is attached to the ACL 

B. By creating an AuthzRule which pulls the header from the ADI 

C. By creating an extended attribute on a POP protecting the junction 

D. By creating an extended attribute on the junction protected object 

Correct Answer: A 

 

QUESTION 9

A deployment professional is configuring IBM Security Access Manager V9.0 for Management Authentication using
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remote LDAP. 

Which configuration field value is optional? 

A. Enable SSL to LDAP 

B. Configure Administrative Group DN 

C. Specify whether or not to bind anonymously 

D. Select Local Database or Remote LDAP Server 

Correct Answer: A 

Reference: https://www.google.com/url? sa=tandrct=jandq=andesrc=sandsource=webandcd=1andcad=rjaanduact=8an
dved=2ahUKEwjsm9_xxpDeAhVktYsKHeFaB
JAQFjAAegQIChACandurl=https%3A%2F%2Fwww.ibm.com%2Fdeveloperworks%2Fcommunity %2Fforums
%2Fatom%2Fdownload%2FISAM9-Management%2520Authentication%2520and%2520Authorization.pdf
%3FnodeId%3D0ac9cd08-fcb9-45bc-bb36-db459d6420c3andusg=AOvVaw1RS5LdoX9DU3vMbb7qRZx8 

(13) 

 

QUESTION 10

Due to regulatory statues, the customer must limit a user to one session. 

Which IBM Security Access Manager V9.0 capability is required to address this customer requirement? 

A. Authorization Server 

B. Advanced Access Control 

C. Distributed Session Cache 

D. Session Management Server 

Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/SSPREK_9.0.0/com.ibm.isam.doc/wrp_config/
task/tsk_set_maxm_concu_sess_plcy.html 

 

QUESTION 11

An attacker has compromised the private key associated with a certificate. 

Which two methods can be used to ensure that certificates have not been revoked by the Certification authority that
issued it? (Choose two.) 

A. Public Key Information 

B. Online Status Certificate Protocol 

C. Online Certificate Status Protocol 
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D. Certificate Rejection List located in LDAP 

E. Certificate Revocation List located in LDAP 

Correct Answer: AE 

 

QUESTION 12

A deployment professional has a requirement to configure an OpenID provider which does not expose tokens to the end
user. 

Which grant type should be enabled when creating the federation? 

A. SAML 

B. Explicit 

C. Refresh Token 

D. Authorization Code 

Correct Answer: D 

 

QUESTION 13

A deployment professional wants to ensure traffic from a Reverse Proxy to a junction backend application server goes
out over a specific interface. 

How can this be accomplished? 

A. Create a new management interface. 

B. Create a new application interface 

C. Create a static route to the backend server 

D. Create a new interface in the reverse proxy configuration file 

Correct Answer: A 

 

QUESTION 14

A deployment professional needs to configure a JavaScript into an application before a user can access a resource
protected by an IBM Security Access Manager V9.0 Advanced Access Control policy which calculates a Risk Score. 

What is the name of this JavaScript? 

A. info.js 

B. init_acc.js 
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C. setup_riskscore.js 

D. dynamic.attributes.js 

Correct Answer: D 

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg27049641andaid=16 (163) 

 

QUESTION 15

An IBM Security Access Manager V9.0 deployment professional is charged with monitoring request response times
from WebSEAL to the backend. The deployment professional wants the flexibility to see response times per request, per
junction, per HTTP return code, or other criteria that may come up in the future. 

What action will generate the required data for this analysis? 

A. Customize the request.log to include response times 

B. Run pdadmin "stats get pdweb.jct" on all junctions on a regular basis 

C. Run pdadmin stats get pdweb.https" and "stats get pdweb.http" on a regular basis 

D. Write a REST API script to pull "application interface statistics" on a regular basis 

Correct Answer: A 

C2150-609 PDF Dumps C2150-609 Practice Test C2150-609 Exam Questions

Powered by TCPDF (www.tcpdf.org)

C2150-609 PDF Dumps | C2150-609 Practice Test | C2150-609 Exam Questions                                7 / 7

https://www.pass4itsure.com/c2150-609.html
https://www.pass4itsure.com/c2150-609.html
https://www.pass4itsure.com/c2150-609.html
http://www.tcpdf.org
https://www.pass4itsure.com/c2150-609.html
https://www.pass4itsure.com/c2150-609.html
https://www.pass4itsure.com/c2150-609.html

